Hot Purging of Flush Seal Water & Temperature

Control via Make Up

Tankh =188 cm

TankDia :=1.8m

TankDia 5
Tank,,, ==n-————Tank, =4.784 n
Pumps := 20
Flush =7 D - Flush Exit
rate min

FlowA := Pumps -Flushrate =8.4 —

C - Flush Return

B - Make Up

A - Flush Rate
—>

[Don't use units here it creates problem with secant method ]

FlowB =X

[Level is held constant in tank so volume of tank is irrelevant]

FlowD 1= FlowB

Flowc 1= FlowA — FlowD
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Liquid enthalpy

[H] at different temperatures.

negligible & density remains constant as well

In liquid phase pressure changes to enthalpy are
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[Make up water requirement using Enthalpy Balance around flush water tank. p is constant so cancels out]

tmp = matrix(O; O)
for 1€ [1 ..length [Enthalpyc]]

for j € [l..length(EnthalpyB]]
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